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()= £[x_] := Sin[x*2]

2= DLE[x], {x, 2}]

@~ glx_] := 2 Cos[x?] - 4 x* sin[%?]
4= M=2+4

Out[4l= 6

5= Plot[{0, Abs[g[x]]}, {x, 0, 1}]
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out[s]=

1.0
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- Abs[g[1]]
outle]= -2 Cos[1l] +4Sin[1]
7= N[%]

Out[7]= 2.28528

ngl:= N[(1000M/ 12)*(1/2)]

outfgl= 22.3607
9= n =23
out[9]= 23

nftoj)= h=(1-0)/n

1
out{10]= —
23

h
In[11]:= ; (£[0] +2sum[f[k/ 23], {k, 1, 22}] + £[1])

1
ouf[tl]= —
46
1 4 9 16 25 36 49 64 81
2 Sin{—} +Sin{—] +Sin{—] +Sin{—] +Sin{—] +Sin{—] +Sin{—] +Sin[—] +Sin[—} +
529 529 529 529 529 529 529 529 529
100 121 144 169 196 225 256
Sin[—} +Sin{—} +Sin{—] +Sin{—] +Sin{—] +Sin{—] +Sin{—] +
529 529 529 529 529 529 529
289 324 361 400 441 484
Sin[—} +Sin{—} +Sin{—] +Sin{—] +Sin{—] +Sin{—] +8in[1]
529 529 529 529 529 529

In[12]:= a = N[%, 20]

Out[12]= 0.31043860088116767628

1
In[13]:= J f[x] dx
(]

T 2
Out[13]= — Fresnels[ — ]
2 T

In[14]:= b = N[%, 20]

Out[14]= 0.31026830172338110181
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In[15]= a -b

out[15]= 0.00017029915778657447
Inf16l:= % < 10~ (-3)

out[16]= True
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